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• ゝ

5Mev,100mA
 65MeV

 1mA
 5 MeV 100 mA = 500 kW

       65 MeV 1 mA = 65 kW
       

10MeV  1mA~0.1mA
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E = 5 MeV
I = 10 µA

(7)

(6)

(5)

(4)

(3)
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(1)

E = 10 MeV
I = 10 µA

E = 200 MeV
I = 1 µA

E = 10 MeV
I = 100 µA

E = 200 MeV
I = 10 µA

E = 200 MeV
I = 10 µA

10 MeV.50 mA
ゝ

5 MeV,
100 mA

100cm+ 50cm 

200cm+ 50cm

Ⅴ 0 90 ゝ
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65 MeV, 1 mA 

1.33E-0505515040090°

1.02E-0601011504270°65 MeV
0.3 mA

4.44E-0505520040090°

3.40E-0601012004270°65 MeV
1 mA

(Sv/h)(cm)(cm)(cm)
(cm)フ Ⅴ″Ⅴ

65 MeV  0.3 mA



6 RL 2009/10/14) 7



6 RL 2009/10/14) 8

 10 MeV, 1 mA

1.59E-0907710479690°

8.71E-0908210434310°65 MeV
1 mA

(Sv/h)(cm)(cm)(cm)
(cm)フ Ⅴ″Ⅴ

50cm
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 10 MeV, 1 mA

6.27E-080100020090°

1.81E-05252002000°Case-3

9.03E-062520096190°

1.25E-05010002000°Case-2

7.00E-0806015020090°

2.07E-050601502000°Case-1
(Sv/h)(cm)(cm)(cm)

(cm)フ Ⅴ″Ⅴ
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 10 MeV, 0.1 mA

5.07E-08090020090°

1.32E-05251002000°Case-3

7.30E-062510020090°

9.16E-0609002000°Case-2

5.66E-0805015020090°

1.51E-050501502000°Case-1
(Sv/h)(cm)(cm)(cm)

(cm)フ Ⅴ″Ⅴ
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• 65MeV
1mA 0.3mA

•
10MeV, 1mA, 2m 20cm+ 25cm さ
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スゝゝ

Jenkins
H(total) = H(neutron) + H(photon)
             = H(GR)+H(MID)+H(HE) + H(brems)+H(second)

H(GR)
H(MID) (25<E<100MeV)
H(HE) (E>100MeV)
H(brems)
H(second)

0° ゝ Sakano
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! 

H(total) = H(neutron) + H(photon)

= H(GR) + H(MID) + H(HE) + H(brems) + H(second)

= JE0(sin" /r)
2
[QHe

#d /$1sin" /(1# 0.72cos")2

+QMe
#d /$2sin" /(1# 0.75cos")2

+3.79 %10#13Z 0.73e#d /$3sin" ]

+J •10#13 • E0(sin" /r)
2
[133e

#µd / sin"
/(1# 0.98cos")1.2

+0.26e#d /$1sin" /(1# 0.72cos")2]

Jenkins


